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A Vanquish|Sun-Pay#fl | FC.PENALTY| &#t4 -84 i3 o a i J=1 5a .= = JIE 52
Vanquish 100 201 903 3 0 0 9 12 4 8 D
Sun-Pay#fl| 0@1 2@3 2@3 0 0 3 0 4 Ji -3 3
FCPENALTY| 1@2 302 801 2 0 1 6 12 5 7 ®
zmyn-axs| 3@9 | 302 | 1@8 1 0 2 3 7 19 12 4
B JL—AFC|cLea¥Fc| IUTHH [SHARKA| B ) = B = TR KR = I £z
JL—AFC 3@4 2A2 301 1 1 1 4 8 7 1 ®
—Lv%9Fc| 403 402 200 3 0 0 9 10 5 5 D
TR | 2A2 2@4 201 1 1 1 4 6 7 -1 3
SHARKA 103 002 1@2 0 0 3 0 2 Ji -5 4
C FC SENCHU| T2 5% &8| SRJ77 | SCOKT | B ) =1 % m &R KR = JIE fiz
FC SENCHU 201 700 501 3 0 0 9 14 2 12 O)
ERE | 102 2@4 200 1 0 2 3 5 6 -1 3
977 0@7 402 602 2 0 1 6 10 11 -1 ®
SCOKT 1@5 002 2@6 0 0 3 0 3 13 -10 4
D Y1430 SC|mBNIT 1y B-ZIT it3 ) =] 2 3= /e K = JIE £z
Y 127LSC 502 1@3 1 0 1 3 6 5 1 ®
AN I47 4y 2@5 1@9 0 0 2 0 3 14 =11 3
B-ZIT 301 901 2 0 0 6 12 2 10 D




